OISC GOLF
METRIX

SDGK Meistrisari » #2 Kohila - 2. ring
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4 3/ 3/3/4/3 /3|33

1 | Mauri Villmann 4,322 4/3/3|2|3
2 Andres Idnurm 4.3 2|2 5 4 2,3 3123 313123 -3 | 56
3 | Simar Villmann 4132/ 2/4/3/43/3/3/3|3/ 4,33/ 3|3/ 3|30 59
4 | Allar Kuppart 414 4 4/4/3/3/3/3/3 /4,3, 3/3|2 3|4 4 3|+5 | 64
4 | Madis Soopa 412 2 4/4/4/4/ 4 4,3/ 3|5 3/3|2 3|3 4 3|+5| 64
6 | Rainer Villmann 5/4/4/24/4/3|/3/4/2 3 /3|4|3,3|3|3|5 3| +6 | 65
7 | Arlet Kuppart 64 3 4 4/ 4/ 3/3/4/2 |33 |/4/|4|4|,4|3|2,3|+8]| 67
8 | Marius Jaanverk 4,3/3|/3/ 6, 4/5/3/3 4,44 ,3|3/3/4|3|3|3|+9 ) 68
9 | Henry Tilk 414 33|45 5 3/4/3 /4,33 /3|4 4,343 /|+410 69
9 | Marek Nuut 3/4' 5 47 5 4/3/3 3|3 4,3|3/3|3 3|3|3 +10 69
11 | Ahti Villmann 6 3/4/2/ 6 6 4 33/ 3|3 4 4 3 4, 4|3 |43 /|+13 72
12 | Tanel Tombak 6 8 5 3/6 4/5 6 4 4 3,6 3|4 3|4 5 7 3 +30 89
13 | Sigritly Villmann 6/ 3/ 47 9 4/ 4 6 7 4 4,6 6|3 4 3|4 5|3 433 92
14 | Helle Villmann 8 45 2 9 6 8 4/ 4 4 5 6 4,4 4 5 5 5 3 436 95
Helmi Pihelgas 8 6 4 3 6 7 5 5 6 4 +41 | 100
llllllllllllllllllll--
1 | Dmitri Borovkov 4123|3435 5 3
2 | Romeo Rannik 45 4 26 3 4 4 3/3|4 2 3/3/3]|3 +6 65
3 Marek HenrikLlaanela| 3 |34 4 5 4|4 5 3 3|4 6 5|3 /3|3 |4 3|3 +13| 72
4 | Rooland Hiiemae 6 5 4 4/ 8 6 7 55 4 418 5 4,5 3 5 5 3/ 437 9%

SDGK Meistrisari = #2 Kohila - 2. ring » 22.12.2024 08:57 (1)


https://discgolfmetrix.com/2465847
https://discgolfmetrix.com/2466012
https://discgolfmetrix.com/2466536
https://discgolfmetrix.com/2465847
https://discgolfmetrix.com/2466012
https://discgolfmetrix.com/2466536

OISC GOLF
METRIX

Hole-by-hole statistics

1020304 5[6[7]8]910[11]12]13]14 15]16 (1718 |19 Tot JRE
Par 4 |33 (3|4 /|33 |3 (3|33 /|3|3|3|3/|3|3|3]|3]| 59

Avg

Difficulty

Birdie -1

Par 0

Bogey 1
Double Bogey 2
Triple Bogey 3
Other >3
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P = B~ b 00 =

49/38/35/3.2|55/43|43/3.8|3.8/3.1|35/44/3.7|3.2(33|35/35|39| 3 |72.4
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14 | 4%
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